CP

ﬁ 6052.700
RITTAL

&
¢
4x @\@k M6x40

4x &@ M6x25

Zchng.-Nr. / No. of dwg. : AO5830000CPA3
Versandbeutel-Nr. / No. of accessory bag : Lieferanten-Nr. / No. of supplier :

Dichtung / Gasket

Adapter

Dichtung / Gasket

130

CP 6315.xxx  Qpti :
ptipanel: M6x40
ﬁ CP 6320.xxX  Comfort-Panel: M6x40

M6x25 _
- ﬁ MD=7Nm  MD=7Nm
=]




